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17

i (ii)

(iii)

17 1
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17 1

(i) (ii)        (iii)

17 2

17 2
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17 2 (i) XYO
XY 17 2 (ii) XY

A B P

(i)

(ii)

(iii)

17 2 (ii) XY P P

17 2 (ii) XY A B XY O

17 2

O XY
A B
XY A A

17 3 B
XAY

A

17 3

0 P XY OP

XY Q,R,S T OQ, OR,
OS OT Q,R,S T

P

OP OQ OR,OS OT

. 17.3

. 17.3
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. 17.5

O XY O

OP  XY

OPX OPY 90

17 4

0 P P
17 5 PT,PB,PA,PC,PD,

PT

P
P P

PT PT

PT = PT ....(i)

B

: PT = PT

OP, OT OT

 OPT OPT

 OTP = Ð OT P ( )

OT = OT

OP = OP ( )

OPT OPT

 PT = PT

. 17.6
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A B

 17.6, OPT OPT

 OPT  =  OPT

17 1: 17 7 OP = 5 3 O P
PT

OTP = 90o, Let PT = x

OPT

OP2 = OT2 + PT2

52 = 32 + x2

x2 = 25 – 9 = 16

x = 4

 PT = 4 

17 2 17 8 7 25 P
PT PT PT PT

Here OP = 25  OT = 7 

OTP = 90o

PT2 = OP2 – OT2

       = 625 – 49 = 576 = (24)2

PT = 24 

PT = PT

PT  = 24 

17 3 17 9 A,B C,O AP,BQ
CR 3 4 3 5 ABC

AP = AR

BP = BQ,

. 17.7

. 17.8
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CQ = CR

AP = AR = 3 cm

BP = BQ = 4

CR = CQ = 3.5

AB = AP + PB;

      = (3 + 4) = 7

BC = BQ + QC;

      = (4 + 3.5)  = 7.5

CA = AR + CR

      = (3 + 3.5)

      = 6.5  

ABC = (7 + 7.5 + 6.5) = 21

17.4: . 17.10, AOB = 50o. ABO OBT

:  OA  XY

OAB = 90o

ABO = 180o – ( OAB + AOB)

= 180o – (90o + 50o) = 40o

OAB = OBT

OBT = 40o

ABO = OBT = 40o

17 1

1.

(i)

(ii)

(iii)

(iv)

(v)

2. . 17.11, POY = 40o, OYP OYT 

3. . 17.12, PQR  PX = 2.5 cm, RZ = 3.5 
PQR = 18 ,  QY 

. 17.9

. 17.10

B
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17 11 17 12

4

17 5

O P
AB CD

PD, PC, PA PB PA × PB
PC × PD

PA × PB = PC × PD

0 BA DC P
PA, PB, PC PD PA × PB PC × PD

PA × PB

PC × PD

PA × PB = PC × PD 

PA × PB = PC × PD

. 17.13

. 17.14
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. 17.16

PA × PB = PC × PD

17 6

O

P PAB PT 

PA,PB PT

PA × PB PT × PT

PA × PB=PT2

You will find that

PA × PB = PT2

PAB A B PT T

PA × PB = PT2

17 5 17 16 AB CD
P PA

= 3 PB =2  PC 1 5 PD

 PA = 3 , PB = 2  PC =
1.5 .

PD = x

PA × PB = PC × PD

3 × 2 = (1.5) × x

4
1.5

23
x

 PD = 4 

17 6 17 17 PAB P PAB
PT PT = 8 OP=10  PA × PB = PT2

. 17.15
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x

OP = 10 

PA = PO – OA = (10 – x) 

PB = OP + OB = (10 + x) 

PT = 8 

PA × PB = PT2

(10 – x) (10 + x) = 82

 100 – x2 = 64

x2 = 36 x = 6

17 7 20 18

 PC = x

PA × PB = PC × PD

4 × 10 = (x + 3) x

x2 + 3x – 40 = 0

(x + 8) (x – 5) = 0

x = 5

PC = 5 

17 2

1.  17.19,  PA = 3 , PB = 6   PD = 4 PC
2. 17.19 , PA = 4  , PB = x + 3, PD = 3  PC = x + 5,  x 

17 19 17 20 17 21

. 17.17

. 17.18
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. 17.23

3.  17.20, if  PA = 4 , PB = 10 cm, PC = 5 ,  PD.
4.  17.20, if PC = 4 , PD = (x + 5) , PA = 5  PB = (x + 2) ,

find x.

5.  17.21, PT = 72 , OP = 8 ,  O .

17 7

O P XY 17 20 P
PQ PRQ R PSQ PRQ

PRQ PQ QPY

QPX

QR PR 17 22

PRQ = QPY

QPY = PRQ

QPX PRQ

O PQ

20 23

PRQ P QPR = QRP PY

XY OP OPY

OPY = 900 XY

17 8 17 24 XY O

. 17.22
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AOB PAB = 400 APX BPY

BPY = ÐBAP

BPY = 40o

APB = 90o ( )

, BPY + APB + APX = 180o ( )

APX = 180o – ( BPY + APB)

= 180o – (40o + 90o) = 50o

 17.9: . 17.25, ABC AB = AC   XY ABC
XY  BC .

: ABC,   AB = AC

1 = 2

 XY A

3 = 2

1 = 3

XY || BC

17 3

1

2 17 26 XY O P OQP = 40o a b

3 17 27 PT P AB TP
P TA TB TM ATB 

17 26 17 27

. 17.24

. 17.25
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PAT = 40o ATB = 60o,  PM = PT.

AB CD P

PA × PB = PC × PD

PAB A B PT T

PA × PB = PT2

1

2

3 17 28 AC = BC AB x, y z

. 17.28
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4 17 29 OT = 7 OP = 25
PT PT PT

POT

5 17 30 ABC 27
PA = 4 QB = 5 QC

6 17 30 ABC = 70o

BOC

OBC + OCB = 
2

1

( ABC + ACB)

7 17 31 P
AB CD PA = (x + 3)

PB = (x – 3) PC = 
3

1
5 x

8 17 32 BA DC
P PA = 4 

PB = 9 PC = x PD = 4x x

. 17.30

. 17.29

. 17.31
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 17.34

 17.33

 17.32
9 17 33 PAB

PT PT = x PA = 4
AB = 5 x

10 17 34 O PBQ = 40o

(i) QPY

(ii) POQ

(iii) OPQ
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17 1

1. (i) (ii) (iii)

(iv) (v)

2. 50o, 50o

3. 3 

17.2

1. 4.3 2. 3 3. 8 

4. 10 4. 6 

17.3

2. a = b = 50o

3.   X = Y = Z = 45O

4. PT = 24 cm; PT’ = 24 cm, POT’ = 60o

5. QC = 4.5 6. BOC = 125o

7. x = 5 8. x = 3

9. x = 6

10. (i)  40o (ii)  80o (iii)  50o


